


1 BapuaHT

PellnTb 3agauyy:

AB = AB1
BC = B1C
[loKazaTb, 4YTOo
A ABC = A AB1C
B

B1

2 BapUaHT

CchopMynnpoBaThb
3 NMPU3HaK paBeHCTBa
TpeyrosibHUKOB

Ao




1 BapuaHT

CchopmynupoBaTb
2 NPU3HaK paBEeHCTBa
TPpeyrofibHMKOB

A

[N

2 BapUaHT
PelinTb 3apau4y:

ABCD-npsaMoyronbHuK

A

B

> d
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JloKa3aTb, 4YTO

A ACD = A BDC.



1 BapuaHT

PewnTb 3aaayy.

O — cepeanHa AB n CK.

K
A O

B

J1oKa3aTb, YTo
A AOC = A KOB.

2 BapUaHT

PewnTb 3aaa4y:.
AD - buccekTtpuca <A,

B

C
<BDA= <CDA.

J1oKa3aTb, UTo
A CAD = A BAD.



